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8cmbémm + 3mm
(2)

| lcm7mm + 2mm
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becm + 4cm7mm
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|lmm + 5cmbmm
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5cmZ2mm + 4cm
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Bmm + 7cmZ2mm
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6mm + | 2cm3mm
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3cm3mm + 2mm
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3cmbé6mm + 2cm
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cmémm — 4mm
(12)

| 2cm5mm — 3mm
(13)

| Ocm9mm — 7cm
(14)

Tcmémm — 4cm
(15)

| Ocmémm — 5mm
(16)

| 5cmb5mm — 2cm
(1'7)

| Ocm9mm — 4mm
(13)

becm9mm — 4mm
(19)

| 2cm2Z2mm — 9cm
(20)

Acmbmm — 3cm
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8(l:)m6mm + 3mm = 8cm9mm gcl)m6mm —4mm = dcmZmm
I(Zl)cm7mm + 2mm =1 lcm9mm (Ilé)cmSmm — 3mm = 1|2cm2Zmm
é?m + 4cm7mm = 9cm7mm (Ilg)chmm — 7cm = 3cmY9mm
I(LrLr)lm + 5cmbmm = bcmémm 9g)m6mm —4cm = 3cmbmm
5(50)m2mm +4cm = 9cmZ2mm (II(S))cmémm — b5mm = 10cm | mm
6((2m + 10cm3mm = |6cm3mm (Ilg)cmSmm — 2cm = |3cmbmm
S(Zr)lm + 7cmZ2mm = 7cm7mm (Ilg))chmm — 4mm = | 0cmbmm
(sfr)lm + 1 2cm3mm = 1| 2cm9mm (SI?mCImm —4mm = 5cmbmm
3(2:)m3mm + 2mm = 3cmbmm (Ilz)cmme —Y9cm = 3cmZ2mm
ggznémm + 2cm = bcmb6mm (éfg)m6mm —3cm = lcmémm
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